

ARIZONA DEPARTMENT OF TRANSPORTATION
INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025001

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 YV YYV	T041401C YYV-0-(212)T	LOCAL	YAVAPAI	NORTHWEST	0		Yusuf Kadem

Highway Termini	Location	Work Description
• YAVAPAY COUNTY	• Wash Bridge at Walnut Grove Rd	• Bridge Replacement

BID RESULTS FOR 2025001

Bid Opening Date : 9/5/2025, Prequalification Required, Engineer Specialist : Yusuf Kadem

Completion Date:

180 Working Days

The proposed work is located in Yavapai County on Walnut Grove Road / Wagoner Road at the Wash Bridge, 7.8 miles east from SR 89, southeast of the Town of Wilhoit. The work consists of bridge replacement. The work includes construction of a new cast-in-place concrete box culvert under the existing bridge and removal of the existing bridge superstructure. The work also includes new roadway pavement over the culvert, reconstruction of approach roadway and applying pavement markings and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$891,050.00	DEPARTMENT ESTIMATE	\$891,050.00
1	+15.9%		\$1,032,972.60	C S CONSTRUCTION, INC. 22023 N 20TH AVE SUITE A PHOENIX, AZ 85027-	\$1,032,972.60
2	+31.1%		\$1,168,213.60	STANDARD CONSTRUCTION COMPANY, INC. 810 E WESTERN AVE AVONDALE, AZ 85323-	\$1,168,213.60
3	+52.1%		\$1,355,422.38	TECHNOLOGY CONSTRUCTION, INC. 5430 SIDE ROAD PRESCOTT, AZ 86301-	\$1,355,422.38
4	+77.5%		\$1,582,029.00	J. BANICKI CONSTRUCTION, INC. 4720 E. Cotton Gin Loop, Suite 240 Phoenix, AZ 85040-	\$1,582,029.00

Winning Bidder is 15.9% Over Department Estimate (Difference = \$141,922.60)

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020003	L.SUM	REMOVE BRIDGE (SUPERSTRUCTURE)				
Bid Rank	Department Estimate		1.000	\$100,000.000	\$100,000.00	
1	C S CONSTRUCTION, INC.			\$88,000.000	\$88,000.00	-12.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$65,000.000	\$65,000.00	-35.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$34,000.000	\$34,000.00	-66.0%
4	J. BANICKI CONSTRUCTION, INC.			\$182,200.000	\$182,200.00	+82.2%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		436.000	\$10.000	\$4,360.00	
1	C S CONSTRUCTION, INC.			\$40.000	\$17,440.00	+300.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$55.000	\$23,980.00	+450.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$25.000	\$10,900.00	+150.0%
4	J. BANICKI CONSTRUCTION, INC.			\$90.000	\$39,240.00	+800.0%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		204.000	\$7.000	\$1,428.00	
1	C S CONSTRUCTION, INC.			\$16.000	\$3,264.00	+128.6%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$20.000	\$4,080.00	+185.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$45.000	\$9,180.00	+542.9%
4	J. BANICKI CONSTRUCTION, INC.			\$18.000	\$3,672.00	+157.1%
2020101	L.FT.	REMOVE FENCE				
Bid Rank	Department Estimate		100.000	\$5.000	\$500.00	
1	C S CONSTRUCTION, INC.			\$16.000	\$1,600.00	+220.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$15.000	\$1,500.00	+200.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$10.000	\$1,000.00	+100.0%
4	J. BANICKI CONSTRUCTION, INC.			\$22.000	\$2,200.00	+340.0%
2020155	EACH	REMOVE (GUARDRAIL END TERMINAL)				
Bid Rank	Department Estimate		4.000	\$400.000	\$1,600.00	
1	C S CONSTRUCTION, INC.			\$2,260.000	\$9,040.00	+465.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$600.000	\$2,400.00	+50.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1,400.000	\$5,600.00	+250.0%
4	J. BANICKI CONSTRUCTION, INC.			\$600.000	\$2,400.00	+50.0%
2020156	EACH	REMOVE (SIGN ASSEMBLY, POST, AND FOUNDATION)				
Bid Rank	Department Estimate		8.000	\$500.000	\$4,000.00	
1	C S CONSTRUCTION, INC.			\$295.000	\$2,360.00	-41.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$310.000	\$2,480.00	-38.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$75.000	\$600.00	-85.0%
4	J. BANICKI CONSTRUCTION, INC.			\$310.000	\$2,480.00	-38.0%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		371.000	\$50.000	\$18,550.00	
1	C S CONSTRUCTION, INC.			\$144.000	\$53,424.00	+188.0%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		371.000	\$50.000	\$18,550.00	
1	STANDARD CONSTRUCTION COMPANY, INC.			\$165.000	\$61,215.00	+230.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$50.000	\$18,550.00	+0.0%
4	J. BANICKI CONSTRUCTION, INC.			\$155.000	\$57,505.00	+210.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		200.000	\$150.000	\$30,000.00	
1	C S CONSTRUCTION, INC.			\$268.000	\$53,600.00	+78.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$250.000	\$50,000.00	+66.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$100.000	\$20,000.00	-33.3%
4	J. BANICKI CONSTRUCTION, INC.			\$335.000	\$67,000.00	+123.3%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		110.000	\$225.000	\$24,750.00	
1	C S CONSTRUCTION, INC.			\$518.000	\$56,980.00	+130.2%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$450.000	\$49,500.00	+100.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1,500.000	\$165,000.00	+566.7%
4	J. BANICKI CONSTRUCTION, INC.			\$1,500.000	\$165,000.00	+566.7%
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		4.000	\$280.000	\$1,120.00	
1	C S CONSTRUCTION, INC.			\$310.000	\$1,240.00	+10.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$275.000	\$1,100.00	-1.8%
3	TECHNOLOGY CONSTRUCTION, INC.			\$450.000	\$1,800.00	+60.7%
4	J. BANICKI CONSTRUCTION, INC.			\$375.000	\$1,500.00	+33.9%
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank	Department Estimate		48.000	\$20.000	\$960.00	
1	C S CONSTRUCTION, INC.			\$24.000	\$1,152.00	+20.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$20.000	\$960.00	+0.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$50.000	\$2,400.00	+150.0%
4	J. BANICKI CONSTRUCTION, INC.			\$25.250	\$1,212.00	+26.3%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		4.000	\$400.000	\$1,600.00	
1	C S CONSTRUCTION, INC.			\$810.000	\$3,240.00	+102.5%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$700.000	\$2,800.00	+75.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1,000.000	\$4,000.00	+150.0%
4	J. BANICKI CONSTRUCTION, INC.			\$850.000	\$3,400.00	+112.5%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		580.000	\$29.000	\$16,820.00	
1	C S CONSTRUCTION, INC.			\$50.000	\$29,000.00	+72.4%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$60.000	\$34,800.00	+106.9%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		580.000	\$29.000	\$16,820.00	
1	C S CONSTRUCTION, INC.			\$35.000	\$20,300.00	+20.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$79.000	\$45,820.00	+172.4%
3	TECHNOLOGY CONSTRUCTION, INC.					
4	J. BANICKI CONSTRUCTION, INC.					
7015020	EACH	TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		6.000	\$2,400.000	\$14,400.00	
1	C S CONSTRUCTION, INC.			\$2,220.000	\$13,320.00	-7.5%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$2,800.000	\$16,800.00	+16.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$2,000.000	\$12,000.00	-16.7%
4	J. BANICKI CONSTRUCTION, INC.			\$2,700.000	\$16,200.00	+12.5%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		66.000	\$3.000	\$198.00	
1	C S CONSTRUCTION, INC.			\$48.000	\$3,168.00	+1500.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$20.000	\$1,320.00	+566.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$15.000	\$990.00	+400.0%
4	J. BANICKI CONSTRUCTION, INC.			\$14.000	\$924.00	+366.7%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		22,164.000	\$0.100	\$2,216.40	
1	C S CONSTRUCTION, INC.			\$0.400	\$8,865.60	+300.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.350	\$7,757.40	+250.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$0.300	\$6,649.20	+200.0%
4	J. BANICKI CONSTRUCTION, INC.			\$0.500	\$11,082.00	+400.0%
7016021	EACH-DAY	TEMPORARY IMPACT ATTENUATORS (IN USE)				
Bid Rank	Department Estimate		226.000	\$45.000	\$10,170.00	
1	C S CONSTRUCTION, INC.			\$44.000	\$9,944.00	-2.2%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$40.000	\$9,040.00	-11.1%
3	TECHNOLOGY CONSTRUCTION, INC.			\$40.000	\$9,040.00	-11.1%
4	J. BANICKI CONSTRUCTION, INC.			\$55.000	\$12,430.00	+22.2%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		452.000	\$0.900	\$406.80	
1	C S CONSTRUCTION, INC.			\$0.750	\$339.00	-16.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$1.000	\$452.00	+11.1%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.500	\$678.00	+66.7%
4	J. BANICKI CONSTRUCTION, INC.			\$2.000	\$904.00	+122.2%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		480.000	\$0.900	\$432.00	
1	C S CONSTRUCTION, INC.			\$3.000	\$1,440.00	+233.3%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$1.000	\$480.00	+11.1%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.500	\$720.00	+66.7%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		480.000	\$0.900	\$432.00	
4	J. BANICKI CONSTRUCTION, INC.			\$4.500	\$2,160.00	+400.0%
7016034	EACH-DAY	DRUM				
Bid Rank	Department Estimate		2,132.000	\$0.600	\$1,279.20	
1	C S CONSTRUCTION, INC.			\$2.250	\$4,797.00	+275.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.750	\$1,599.00	+25.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$0.590	\$1,257.88	-1.7%
4	J. BANICKI CONSTRUCTION, INC.			\$3.400	\$7,248.80	+466.7%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		960.000	\$0.300	\$288.00	
1	C S CONSTRUCTION, INC.			\$0.600	\$576.00	+100.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.200	\$192.00	-33.3%
3	TECHNOLOGY CONSTRUCTION, INC.			\$0.300	\$288.00	+0.0%
4	J. BANICKI CONSTRUCTION, INC.			\$0.600	\$576.00	+100.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		3,036.000	\$0.300	\$910.80	
1	C S CONSTRUCTION, INC.			\$0.750	\$2,277.00	+150.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.200	\$607.20	-33.3%
3	TECHNOLOGY CONSTRUCTION, INC.			\$0.300	\$910.80	+0.0%
4	J. BANICKI CONSTRUCTION, INC.			\$0.700	\$2,125.20	+133.3%
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		2,880.000	\$0.300	\$864.00	
1	C S CONSTRUCTION, INC.			\$0.900	\$2,592.00	+200.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.500	\$1,440.00	+66.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.400	\$4,032.00	+366.7%
4	J. BANICKI CONSTRUCTION, INC.			\$0.700	\$2,016.00	+133.3%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		960.000	\$0.600	\$576.00	
1	C S CONSTRUCTION, INC.			\$0.950	\$912.00	+58.3%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$0.750	\$720.00	+25.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.000	\$960.00	+66.7%
4	J. BANICKI CONSTRUCTION, INC.			\$1.600	\$1,536.00	+166.7%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		480.000	\$0.750	\$360.00	
1	C S CONSTRUCTION, INC.			\$0.950	\$456.00	+26.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$1.250	\$600.00	+66.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.100	\$528.00	+46.7%
4	J. BANICKI CONSTRUCTION, INC.			\$1.600	\$768.00	+113.3%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7030080	EACH	OBJECT MARKER (M-23) (TYPE 3)				
Bid Rank	Department Estimate		4.000	\$100.000	\$400.00	
1	C S CONSTRUCTION, INC.			\$205.000	\$820.00	+105.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$200.000	\$800.00	+100.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$300.000	\$1,200.00	+200.0%
4	J. BANICKI CONSTRUCTION, INC.			\$240.000	\$960.00	+140.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		66.000	\$0.400	\$26.40	
1	C S CONSTRUCTION, INC.			\$9.000	\$594.00	+2150.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$2.000	\$132.00	+400.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$50.000	\$3,300.00	+12400.0%
4	J. BANICKI CONSTRUCTION, INC.			\$2.700	\$178.20	+575.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		1,368.000	\$0.800	\$1,094.40	
1	C S CONSTRUCTION, INC.			\$4.500	\$6,156.00	+462.5%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$1.000	\$1,368.00	+25.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$3.000	\$4,104.00	+275.0%
4	J. BANICKI CONSTRUCTION, INC.			\$1.350	\$1,846.80	+68.8%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		1.000	\$7,000.000	\$7,000.00	
1	C S CONSTRUCTION, INC.			\$11,000.000	\$11,000.00	+57.1%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$5,000.000	\$5,000.00	-28.6%
3	TECHNOLOGY CONSTRUCTION, INC.			\$10,000.000	\$10,000.00	+42.9%
4	J. BANICKI CONSTRUCTION, INC.			\$17,900.000	\$17,900.00	+155.7%
8101014	L.FT.	EROSION CONTROL (SEDIMENT WATTLES)(20")				
Bid Rank	Department Estimate		422.000	\$10.000	\$4,220.00	
1	C S CONSTRUCTION, INC.			\$12.500	\$5,275.00	+25.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$8.000	\$3,376.00	-20.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$10.000	\$4,220.00	+0.0%
4	J. BANICKI CONSTRUCTION, INC.			\$16.000	\$6,752.00	+60.0%
8101018	SQ.YD.	EROSION CONTROL (STABILIZED CONSTRUCTION ENTRANCE/EXIT GRAVEL PAD)				
Bid Rank	Department Estimate		394.000	\$35.000	\$13,790.00	
1	C S CONSTRUCTION, INC.			\$74.000	\$29,156.00	+111.4%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$15.000	\$5,910.00	-57.1%
3	TECHNOLOGY CONSTRUCTION, INC.			\$40.000	\$15,760.00	+14.3%
4	J. BANICKI CONSTRUCTION, INC.			\$91.000	\$35,854.00	+160.0%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		220.000	\$10.000	\$2,200.00	
1	C S CONSTRUCTION, INC.			\$11.000	\$2,420.00	+10.0%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		220.000	\$10.000	\$2,200.00	
1	C S CONSTRUCTION, INC.			\$6.000	\$1,320.00	-40.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$10.000	\$2,200.00	+0.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$7.000	\$1,540.00	-30.0%
4	J. BANICKI CONSTRUCTION, INC.					
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$85,000.000	\$85,000.00	
1	C S CONSTRUCTION, INC.			\$103,700.000	\$103,700.00	+22.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$75,000.000	\$75,000.00	-11.8%
3	TECHNOLOGY CONSTRUCTION, INC.			\$135,000.000	\$135,000.00	+58.8%
4	J. BANICKI CONSTRUCTION, INC.			\$140,600.000	\$140,600.00	+65.4%
9030013	L.FT.	BARBED WIRE GAME FENCE				
Bid Rank	Department Estimate		100.000	\$15.000	\$1,500.00	
1	C S CONSTRUCTION, INC.			\$122.000	\$12,200.00	+713.3%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$65.000	\$6,500.00	+333.3%
3	TECHNOLOGY CONSTRUCTION, INC.			\$150.000	\$15,000.00	+900.0%
4	J. BANICKI CONSTRUCTION, INC.			\$55.000	\$5,500.00	+266.7%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		63.000	\$45.000	\$2,835.00	
1	C S CONSTRUCTION, INC.			\$87.000	\$5,481.00	+93.3%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$90.000	\$5,670.00	+100.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$200.000	\$12,600.00	+344.4%
4	J. BANICKI CONSTRUCTION, INC.			\$92.000	\$5,796.00	+104.4%
9050010	L.FT.	GUARD RAIL, SPECIAL (BOLTED GUARDRAIL POST ATTACHED TO CULVERT HEADWALL OR RETAINING WALL)				
Bid Rank	Department Estimate		175.000	\$75.000	\$13,125.00	
1	C S CONSTRUCTION, INC.			\$338.000	\$59,150.00	+350.7%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$350.000	\$61,250.00	+366.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$750.000	\$131,250.00	+900.0%
4	J. BANICKI CONSTRUCTION, INC.			\$355.000	\$62,125.00	+373.3%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank	Department Estimate		4.000	\$7,000.000	\$28,000.00	
1	C S CONSTRUCTION, INC.			\$5,755.000	\$23,020.00	-17.8%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$4,500.000	\$18,000.00	-35.7%
3	TECHNOLOGY CONSTRUCTION, INC.			\$9,500.000	\$38,000.00	+35.7%
4	J. BANICKI CONSTRUCTION, INC.			\$6,010.000	\$24,040.00	-14.1%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	C S CONSTRUCTION, INC.			\$18,500.000	\$18,500.00	-38.3%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$65,000.000	\$65,000.00	+116.7%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
3	TECHNOLOGY CONSTRUCTION, INC.			\$45,000.000	\$45,000.00	+50.0%
4	J. BANICKI CONSTRUCTION, INC.			\$69,200.000	\$69,200.00	+130.7%
2030501	A	CU.YD. STRUCTURAL EXCAVATION				
Bid Rank	Department Estimate		119.000	\$250.000	\$29,750.00	
1	C S CONSTRUCTION, INC.			\$90.000	\$10,710.00	-64.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$500.000	\$59,500.00	+100.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$400.000	\$47,600.00	+60.0%
4	J. BANICKI CONSTRUCTION, INC.			\$490.000	\$58,310.00	+96.0%
2030508	A	CU.YD. STRUCTURE BACKFILL				
Bid Rank	Department Estimate		26.000	\$200.000	\$5,200.00	
1	C S CONSTRUCTION, INC.			\$430.000	\$11,180.00	+115.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$450.000	\$11,700.00	+125.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$400.000	\$10,400.00	+100.0%
4	J. BANICKI CONSTRUCTION, INC.			\$870.000	\$22,620.00	+335.0%
2030509	A	CU.YD. STRUCTURE BACKFILL (FLOW FILL)				
Bid Rank	Department Estimate		203.000	\$400.000	\$81,200.00	
1	C S CONSTRUCTION, INC.			\$388.000	\$78,764.00	-3.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$325.000	\$65,975.00	-18.8%
3	TECHNOLOGY CONSTRUCTION, INC.			\$500.000	\$101,500.00	+25.0%
4	J. BANICKI CONSTRUCTION, INC.			\$640.000	\$129,920.00	+60.0%
6010002	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 3,000)				
Bid Rank	Department Estimate		77.000	\$2,200.000	\$169,400.00	
1	C S CONSTRUCTION, INC.			\$1,500.000	\$115,500.00	-31.8%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$2,100.000	\$161,700.00	-4.5%
3	TECHNOLOGY CONSTRUCTION, INC.			\$3,225.000	\$248,325.00	+46.6%
4	J. BANICKI CONSTRUCTION, INC.			\$2,080.000	\$160,160.00	-5.5%
6010004	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 4,000)				
Bid Rank	Department Estimate		26.000	\$3,000.000	\$78,000.00	
1	C S CONSTRUCTION, INC.			\$1,500.000	\$39,000.00	-50.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$2,900.000	\$75,400.00	-3.3%
3	TECHNOLOGY CONSTRUCTION, INC.			\$3,500.000	\$91,000.00	+16.7%
4	J. BANICKI CONSTRUCTION, INC.			\$2,850.000	\$74,100.00	-5.0%
6050002	A	LB. REINFORCING STEEL				
Bid Rank	Department Estimate		13,135.000	\$2.000	\$26,270.00	
1	C S CONSTRUCTION, INC.			\$2.000	\$26,270.00	+0.0%
2	STANDARD CONSTRUCTION COMPANY, INC.			\$4.000	\$52,540.00	+100.0%
3	TECHNOLOGY CONSTRUCTION, INC.			\$1.700	\$22,329.50	-15.0%

*** Bid Tabs for Proposal Pamphlet 2025001 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6050002	A	LB. REINFORCING STEEL				
Bid Rank		Department Estimate	13,135.000	\$2.000	\$26,270.00	
4		J. BANICKI CONSTRUCTION, INC.		\$2.800	\$36,778.00	+40.0%
9140121	A	SQ.FT. RETAINING WALL (REINFORCED CONCRETE)				
Bid Rank		Department Estimate	550.000	\$135.000	\$74,250.00	
1		C S CONSTRUCTION, INC.		\$191.000	\$105,050.00	+41.5%
2		STANDARD CONSTRUCTION COMPANY, INC.		\$275.000	\$151,250.00	+103.7%
3		TECHNOLOGY CONSTRUCTION, INC.		\$155.000	\$85,250.00	+14.8%
4		J. BANICKI CONSTRUCTION, INC.		\$175.000	\$96,250.00	+29.6%